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a—F PR | DR | AR | OBBIE| B | A it
1 |k 7.7E+0 77 73E+2 730.0 737.7
2 |fdi
3 [BFR 2.5E+2 253.0 253.0
4 |EhR IR 9.6E+1 96.0 96.0
5 |FKHE 7AE+3 7400.0 7.400.0
6 IR 1.0E+0 1.0 1.0
7 |EEE 34E+0 34 4.3E+2 432.0 4354
8 |y 3.5E+0 35 1.6E+4 15,910.1 15913.6
9 [k 5.0E- 1 0.5 1.0E+4 10,1275 10,128.0
10 |FEFGIR 1.7E+3 1,693.1 1,693.1
11 |BERE 6.3E+0 6.3 88E+3 8,755.3 8,761.6
12 [FER 1.0E-1 0.1 33E+3 3,305.7 3,305.8
13 |HEHR 48E+2 4839 4839
14 [fh53)1IE 45E+1 452 20E-1| 8.7E+3 8,667.5 8,712.9
15 iR 1.8E+2 180.0 64E+1 64.0 2440
16 | &1L 56E+2 562.0 562.0
17 |B)IE 1.7E+2 170.0 170.0
18 |fEH: IR 2.2E+3 2,189.0 2,189.0
19 |1LZLLR 2.8E+2 2770 2770
20 |REHEpuR 1.0E+2 102.0 102.0
21 |7 B 5.3E+0 53 1.2E+4 12,310.0 12,315.3
22 |F ] R 75E+0 75 1.1E+4 10,751.0 10,7585
23 | B 32E+1| 3.0E+0 354 8.3E+H4 82,594.3 82,629.7
24 |=EIE 79E+1 794 6.9E+3 6,921.5 7,000.9
25 |E R 3.1E+0 3.1 1.8E+4 17513.7 17516.8
26 |HHEBS 1.1E+4 11,029.1 11,029.1
27 | KBRS 1.2E+1 124 1.8E+3 1,8325 1,8449
28 | ST IR 7.8E+1 783 94E+3 9,380.6 94589
29 [mEER 1.1E+0 1.1 1.7E+2 170.0 171.1
30 ATk 1.1E+3 1,080.0 1,080.0
31 | B
32 |
33 [ iR 1.3E+1 129 1.1E+4 11,4240 11,4369
34 |5 2.7E+3 2,663.5 2,663.5
35 LR 2.3E+0 2.3 50E+H 500,880.0 500,882.3
36 |fE R 6.9E+2 690.0 690.0
37 |FE 1.0E- 1 0.1 0.1
38 | BEIRIR 19E+3 1,925.0 1,925.0
39 | EHIR
40 | fE R 2.6E+1 26.0 2.2E+3 2,246.0 2,272.0
41 |[fEE R 59E+1 59.0 59.0
42 |Flri
43 |REAIS 2.8E+2 280.0 280.0
44 | Ko E 2.6E+3 2,648.6 2,648.6
45 | 3.3E+2 330.0 330.0
46 |EIR R 1.0E+1 100 10.0
47 |

4 5.1E+2| 3.0E+0| 5105 20E-1| 74E+H 7379579 738,468.6
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